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AP Calculus
Section 4.3 Practice 

Show all your work!  Graphing Calculator allowed only on question 7.
[image: image1.png]The graph of y=5x" —x has a point of inflection at

(&) (0.0) only (B) (3.162) only (©  (4.256) only
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1.  

[image: image2.png]Given the function defined by f(x)=3x"—20x’ . find all values of x for which the graph of £ is
concave up

@ x>0

®) —2<x<0 or x>42

(© -2<x<0 orx>2

® x>v2

€ -2<x<2



2.  

[image: image3.png]The graph of ) is concave downward for all values of x such that

@ x<0 x<2 © x<5 ® x>0 ® x>2




3.  
[image: image4.png]~

The graph of 3= f(x) is shown in the figure above. On which of the following intervals are

L a<x<b
L b<x<c
oL c<x<d

(4) Tonly (B) Tonly (C) Monly (@) TandIl  (E) Hand I



4.  
[image: image5.png]-1 Graph of

Let f be the function defined for x = 0 with £(0) =
by £/(x) = e~/ sin(x?). The graph of y = £'(x) is shown above.

and £, the first derivative of f; given

(@) Use the graph of f” to determine whether the graph of £ is concave up, concave down, or neither on the
interval 1.7 < x < 1.9. Explain your reasoning.



5.  
[image: image6.png]Graph of f*

The figure above shows the graph of £, the derivative of the function 7, on the closed interval =1 < x < 5.
The graph of ” has horizontal tangent lines at x = 1 and x = 3. The function f is twice differentiable with

@

(@) Find the x~coordinate of each of the points of inflection of the graph of f. Give a reason for your answer.

(b) At what value of x does f attain its absolute minimum value on the closed interval =1 < x < 52

(©) Let g be the function defined by g(x) = x7(x). Find an equation for the line tangent to the graph of g
atx=2



6.  
*7.  
[image: image7.png]A particle moves along the x-axis so that its velocity v at any time ¢, for 0 < t < 16, is given by

V() = €25 — 1 Attime 1 = 0, the particle s at the origin.

() On the axes provided, sketch the graph of v(1) for 0 < 1 < 16.
(Note: Use the axes provided in the test booklet.)

W)

-8

(b) During what intervals of time is the particle moving to the left? Give a reason for your answer.




